
 Assembling Instruction & Parts List

(102 cm)
3

gray 4

Pos. No. Description Measurement in mm Quantity Item No. -3 Item No. -4

Pos. 1 Bottom Plate
20 × 20 × 0.75 in.
(51 × 51 × 2 cm)

1

Pos. 2 Platform
19.5 × 7.25 × 0.75 in. 

(50 × 19 × 2 cm)
3

Pos. 3 Top Bed
14 × 5.5 in. 

(36 × 14 cm)
1

Pos. 4 Cushion
ø 12.75 in. 
(ø 33 cm)

1

Pos. 5 Wooden Plate
ø 3.5 × 0.75 in. 

(ø 9 × 2 cm)
1

Pos. 6 Post with Spacer Bolt
ø 3.5 × 7.75 in. 
(ø 9 × 20 cm)

2

Pos. 7 Post
ø 3.5 × 16.5 in. 
(ø 9 × 42 cm)

1

Pos. 8 Post with Spacer Bolt
ø 3.5 × 21.5 in. 
(ø 9 × 42 cm)

1

Pos. 9 Post
4.5 × 7.75 in. 

(ø 11.5 × 20 cm)
3

Pos. 10 Post with Spacer Bolt
4.5 × 7.75 in. 

(ø 11.5 × 20 cm)
1

Pos. a Countersunk Screw
M8 × 1.5 in.

(M8 × 40 mm) 
4

Pos. b Thread rod
M8 × 2.25 in.

(M8 × 60 mm) 
4

U Advice: 

This product should be assembled by an adult.

7

b

Pos. a

2

6

1

3

a

a

2

a
a

4

10

9

8

2

9

95

Pos. b

b

b

b

6

01-4497_ABA.indd   1 16.12.2016   08:44:44

40 inch

 Scratching Post  Color  Height Color Code

beige


